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QUESTION 1

Examine the following PL/SQL code: The serveroutput is on for the session. Which statement is true about the
execution of the code?

DECLARE
emp rec employees$ROWTYPE;

BEGIN
SELECT * INTO emp _rec FROM employees WHERE employee 1id=123;
IF SQLSNOTFOUND THEN

DBMS_OUTPUT.PUT_LINE ( ‘Record Not found’):;
ELSE

DBMS_OUTPUT.PUT_LINE( ‘Employee ’ ||emp_rec.first_name||‘’ ||
emp_rec.last_name||‘ Salary is ’'||emp_rec.salary):
END IF;
END;
/

A. It displays NULL if no employee with employee_id 123 exists.

B. It produces the ORA-01403: no data found error if no employee with employee_id 123 exists.

C. It displays an error because the SELECT * INTO clause cannot be used to populate the PL/SQL record type.

D. The code executes successfully even if no employee with employee_id 123 exists and displays Record Not Found.

Correct Answer: B

QUESTION 2
Examine the following PL/SQL code:

DECLARE
v_lname VARCHARZ (15);
BEGIN
SELECT last nams INTO v_lname
FROM employees
WHERE first name='John’;
IF v_lname is NULL THEN
DBMS OUTPUT.FUT LINE (‘No Rows found'):;
ELSE
DBMS_OUTPUT.EFUT LINE (‘John’’s last name is :’||v_lname);
END IF;
END;
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Which statement is true about the execution of the code if the query in the PL/SQL block returns no rows?

A. The program abruptly terminates and an exception is raised.

B. The program executes successfully and the output is No ROWS_FOUND.

C. The program executes successfully and the query fetches a null value in the V_LNAME variable.

D. Program executes successfully, fetches a NULL value in the V_LNAME variable and an exception is raised.

Correct Answer: A

QUESTION 3

View the Exhibit and examine the structure of the EMP table.

SQL> desc emp

Name Null? Type

EMPNO NOT NULL NUMBER (4)
ENAME VARCHARZ (10)
JOB VARCHARZ (9)
MGR NUMBER (4)
HIREDATE DATE

SAL NUMBER (7, 2)
COMM NUMBER (7, 2)
DEPTNO NUMBER (2)

Examine the following block of code:

SQL>DECLARE
v_sal NUMBER:
BEGIN
SELECT sal INTO v_sal FROM emp WHERE empno = 130;

INSERT INTO emp (empno, ename, sal) VALUES (185, ‘Jones’,v_sal+1000);
END;

Which stages are performed when the above block is executed? (Choose three.)
A. Bind

B. Parse
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C. Fetch
D. Execute
Correct Answer: BCD

Reference: https://www.ibm.com/support/knowledgecenter/en/SS6NHC/
com.ibm.swg.im.dashdb.apdv.plsql.doc/doc/c0053844.html

QUESTION 4

View the Exhibit and examine the blocks of code that you plan to execute.

CREATE OR REPLACE FUNCTION dflt RETURN NUMBER IS
cnt NUMBEER :=0;
BEGIN
cnt := cnt + 1;
RETURN 45;
END dflt:;

CREATE OR REPLACE PROCEDURE p(i IN NUMBER DEFAULT dflt())

BEGIN
DBMS OUTPUT.PUT_LINE(i):;
END p;
DECLARE
cnt NUMBER := dflt():
BEGIN
FOR j IN 1..3 LOOP
p(d):
END LOOP;
DBMS OUTPUT.PUT LINE(‘cnt: ’||cnt);
p();
DBMS_OUTPUT.PUT _LINE(‘cnt: ’'||cnt);
END;

Which statement is true about the blocks of code?
A. All the blocks execute successfully and the anonymous block displays123cant: 4545cnt: 45.
B. All the blocks execute successfully and the anonymous block displays123cut: 045cart: 1.

C. The anonymous block gives an error because the function invocation in line 2 is not valid.
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D. The procedure creation gives an error because the function invocation in line 1 is not valid.

Correct Answer: A

QUESTION 5

Which two guidelines are recommended by Oracle to reduce invalidation of dependent objects? (Choose two.)
A. Reference tables indirectly by using views.

B. Reference tables directly and avoid using views.

C. When adding new items to a package, add them to the end of the package.

D. When adding new items to a package, add them to the beginning of the package.

Correct Answer: AC

Latest 170-144 Dumps 170-144 PDE Dumps 170-144 VCE Dumps

Latest 1Z0-144 Dumps | 1Z0-144 PDF Dumps | 1Z0-144 VCE Dumps 5/5


https://www.pass2lead.com/1z0-144.html
https://www.pass2lead.com/1z0-144.html
https://www.pass2lead.com/1z0-144.html
http://www.tcpdf.org
https://www.pass2lead.com/1z0-144.html
https://www.pass2lead.com/1z0-144.html
https://www.pass2lead.com/1z0-144.html

